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Answer: .
(a) Veblen effect was givenby Ve

also known as prestige goods effect.

pblen. Hence, itis called Veblen effy
ot It is related to conspicuny

lace as some Consumg

otion. Veblen etfect ﬁm.xwm place Sutey
WoMMM_HﬂM M_NM utility by its price ie. if price rises Emms. ﬁﬂw ﬂw%u %
the commodity has got more utility. Veblen effect Is haiy
practiced by rich people to satisfy their needs for conspicuo

goods.
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[Chapter - 2] Theary of Demand and Supply

Answer:
{a) Y

mo—moo

QUANTITY X

{a) When change in demand is greater than price change then e > 1

{b) When change in demand is i8ss than the price change then @ < 1

{(c} When ghange in demanc is same as the change in price then it is e =1

(d) Wnhen there is no changs in demand as change in price then e = 0

(6) When price changes slightly but demand change is higher then
8=

Here, C shows 8 = 1 by which we can prove that

C=2e=-1,A=e=2B=ag:1

D=e<1,E=8=0

Cardinal epproach s related to:

{a) !ncifferencs curve

{c) Law of diminishing returns

Answer:

{b) Marginat Utiity theory is-given by Alired Marshall. He assumes that
the marginal utility theory ig related to cardinal approach which
means we can measure the utility in terms of money. Marshall says,

. “Money is the measuring rod of utility™.

4] An increase in demard can result from:

{a) A decline in the market price i

{b) Anincrease ir ncome

(c) A reduction in the price of substitutes

{d) Anincrease in the price of complaments.

=

[3]
{b} Equi marginal utility

{d} None of these. (1 mark)

(1 mark)
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Answer:
(b) Price and demand are inversely relaled as the price rises demand
falls and vice-versa. But income and demand are directly related.
Rise in income increases the guantity demanded and fall in income
dacreasas the quantlty demanded.
[5] Cross elasticity of perfect substitutes is

(a) Zero (b) Negative
(c) One (d) Infinity (1 mark)
Answer:

(d) Cross elasticity of perfect substitutes is infinity as the rise (n the price
of one good will cause a rise in the demand of its substitutes,
Example: If the price of the tearises, the demand for coffee rises as
these two are perfect substitutes.

Cross elasticity of complementary goods leads to zero.

[6] Suppiyisa _ concept.
{a) flow (b) stock
{c) flow and stock, both (d) qualitative {1 mark)
Answer:

(a) Supply refers to ‘quantity of a good or service that consumers are
willing and able to purchase during a given pericd of time. Supply is
a flow concept as quantity supplled is so much per unit of time per
day, per week ot per year. it is regularly geing on supply which
maans not only those goads which are sold but also those which are
in stock, : _

(7] Forwhat type of goods does demand fall with a rise in income levels of

househalds?

(&) Inferior goods

(¢) Luxuries

Answer: _

{a) iInferior goods are the type of goods which are not of good guality
and no one wants to consume these but circumstances force them
to consume these. if income rises of households then demand for
inferior goods go down or elasticity for these goods becomes
negativa.

(b} Substitutes

(d) Necessities {1 mark)
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[8] Which economist said that money is the measuring rod of utility?

(a) A.C Pigou {b) Marshali

{c} Adam Smith {d) Robbins {1 mark)

Answer:

(b) Margina' Utility theory is given by Alfred Marshall. He assumes that
the marginal utiilty theory is relaled to cardinal approach which
means we can measure the utility in terms ot money. Marshall says,
"Money is the measuring rod of utility”,

{9] Elasticity between two points:
fa} point elasticity

{c) Cross elastcity

Answer:

{b) When price e asticity is 10 be found between two prices or two points
on the demand curve then it is not possible to know what price and
guantty should be taken as the base. So. we use Arc slasticity
methoa 1o xnow the base price and guantity.

{10} An ingiftererce curve is L shaped, then two goods will be:

{a) Perfect sudstitute goods

{bl Supsitute goods

{ci Perlect compiementary goods

{c} Complementary goods

Answer:

{c} When two goods are perfect complementary goods (e.g. printer
anc carindge), the ndifference curve will consist of two straight lines
with & nght angie between them which is convex to the origin, or in
other words, 1§ Wil be _ shaped.

{17] The concept of consumer's surplus is denved from:

{a} "ne law of amunishing marginal utility.

b1 Tne lew of equelmarginal Uty

it The ‘aw of dimirishing rewms

{dy Engels law

(a) Corsure surpius ks a surplus which 2 consumer would be willing
fo pay rather thar go witvout @ commodity over that which he

(b) Arc o“mm.wo:x
{d) None.’

{1 mark)

{1 mark)

{1 mark;)
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(a) an increase (1 may

(c) contraction

Wﬂ»ﬁﬂﬂ: the supply curve shifts to the rg

more factors othar S.m: the osiw %ﬁ
supply curve shifts {0 right, we mm<: mm 3
and when supply curve shift to leTt w y
in supply.
[13) Short- run price is also ca
(a) Market price
{¢) Maximum retail price

Answer: :
(a) Short-run price s also known as the market price and it

determined by the temparary equilibrium between the forces¢
demand and supply.
[14] When supply price increase in the short run, the profit of the produs

(@) increases

(c) remains constant

Answer:

(8) Supply and prica ars direct|
ﬂ.soﬁmmmg and &s the prig
iNtrease in supply-price wil|

e e———

i

(d) decrease

ht due to a change in ongy
e of the commadlty. Why
here is anincreass in supp)
that there is a decreg

lied by the name of: .
(b) Showroom price

{d) None of these. (1 man

{b}) decreases

(d) decreases marginally (1 mat
Y related as tha supply increase, pi
8 decreases, supply decraases. ¥
Increase the profits of the produce!.

.Ife_,..!s,
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(15} When Price of
demanded?
(@) Increases
(¢} No change

a commoadity increaseg what will be the effect ah n:%@

an U@Q@W@Qw

{d) None of these (1 ma®

e}
Q

[16]

17]
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Answer:

(h) As per the law of demand, other things being equal, if the price of a
commadity falls, the quantity demanded of it will rise and if the price
of a commadily rises, its quantity demanded will fall.

[16] According to the law of supply, change in supply is related to?
{(a) Price of goods {b} Price of related goods
{c) Factors of production {(d) None of the above
Answer:
(a) According to the law of supply, change in supply is B_&ma to the
price of goods. As other things remalining constant, the quantity of
a good {produced and offered for sale) will increase if the prica rises.
[17] In case of inferior goods, with a rise in the income of consumers,
demand for Giffen goods will ........... ?
{a) Increases (b) Decreases -
{c) Nochange (d) None of the above {1 mark)
Answer:
(b) In general cases, as consumer income rises, they will prefer high
quality goods and, therefore, demand for Giffen goads will decrease.
[18] In case of necessaries, consumer surplus is?

(1 mark)

{a) Infinite (b) Zero
(c) Equals to cna (d) More than one (1 mark)
Answer:

(a) Incase of necessaries, the marginal utilities of the first few units are
infinitely large. {n such cases the consumer surplus is always infinite.

[19] When the price of a commodity rises from 200 to ¥ 300 and Quantity
supply increases from 2000 to 5000 units, find the elasticity of supply?

(a) 3.0 {a)] :
(c) 0.3 () 3.5 {1 mark)
b:aio-.
@) 2 B . 3000, 200
n bc 2.000 ° 100
= 3.0. .
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[20] From the following data given below answer question 20 and 21-
Units TU MU
1 200
2 - 180
3 480 -
Total utility derived from 2 unit?
(@) 380 (b) 20
(c) 100 (d) 280 (1 mark)
Answer:
(@ Tu=Y MU

therefore, 380

[21] Marginal utility of 3" unit is?

{a) 200 (b) 280
(c} 100 (d) 50 . {1 mark)
Answer:

(¢) MU=TU,-TU,_,
Therefars, = 480 — 380 = 100

[22] Which Equation is correct—

MUx _ Px MUx _ Px
X £X X o 1 mark
() MUy < Py (d) MUy 3 ! (1 mark)

Answer:

(a) The law of utility states .,_,_B consumer wilt be in equilibrium when
Mux _ P

MUy P,

[23] The scope of ﬁ:m indifference oc_?,m shows consumer equilibrium at 50

FX (Price line) i

(b) More than
(d) None of the above

point where MRS e <
(a) Less than

{c} Equalto
Answer: P,

(¢) Consumer will be in equilibrium only when MRS, is equal Swa(

(1 mark)

{(price line).
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[24] Winch of the fallowing is not the property of the indifference curve ?

(@ 1C is convex (o the ongin
(b} IC scopes downwards fram left to rignt

(e} Two IC can touch each other

{@ 1C carnot oueh either of the axes

Answaer: ]

{c) Properties of indiTerarce curve ars;

1. Indiffierence cuives siope cownward to the nght
Indifference curves are aiways convex fo the origin,
ingiierence Curves can never intersect each other
4 hgrer Ingierence curve represents higner level of

satistacuen

S irdillerance curve will ret touch sither axes.

(1 mark)

L8 $ea 3 .

i Fad i» germard 12} Rise in demand
Wo chargs {2} Initaly rise then dltmately fall

{1 mark)

, eral Ccases, when e price oF the commodities rise, the
URESING powe” OF customer wil fall end thereore demand wit! fal

A‘

B i T O W e SN i . " . .
=5, ¥EOC O Semanc ‘orecasting does nct includs?

3% Bt B0 B oo gy o B 3 = 3
2. liathe: = etnod B! Bzrometrc method
(S miper opinion met-od {d: Statstical matro 1 Xj
. 5 330 Slatisticzl methad {1 mark
s v Marky

18] Methad of domang forecastng gre:
T Burvey of buvers intentione
= Coflectior opinion mes ethod
<. ZXDeT Opinion methoe
“. Stalistics metroc
5. Conrolled Experimernte
- SRImElrc methna
: ‘hareiore, mgs wralical rghod - 2 acast
O Rapronge o, mu?s»mmm T & not 2 method of forg ing.
e s ¥ Fireases, wrat will be the effect on the
i@ Decegses i 585
: 5 £ Inceases

i No cnange @ Cant gay {1 mark;
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Answer: , £l St
(a) As perthe law of demand, other thin gs remaining constant whar the
price of commodity increases quantity demandec decreases ang

vice versa.
[28] An |C shows

(a) Increasmng

(c) Constant

Answer:

{b) MRS is falling because as the consumer has more and more unitg
of foad, he is prepared to give up less and less units of e
commodity. - : o

[29] Forecasting of demand is the Art and Science of predicting?

(a) Actual demand for a product at the same future date

{b} Probable demand in future

{c} Total demand in future

{d) None of thess.

. Answer: . !

(b} Forecasting, in general, refers to knowing or measuring ths stae
or BEﬁ of n event or variable before it oocurs, Forecasting of
demandis the art and science of predicting the probable demand e
a procduct or a service.

[30] Waammos mace 1o total utility refers to?
ﬂ.ww @MMMM_WEQ 9) Average utility
Answer: (d) All of the above. |

MAS between the commodity?
(b) Decreasing

(d) Zero (1 marg

{1 marg

(b} Pertectly elastic

{d) All of the above. (1 mark]

{8} The elasticity of Supply:
&> « elastic supply
&< 1 = inglastic SUpply
& =C = Perfectly inglastic supply

| g |
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e == ~ Perfectly elastic supply
e =1 ~ Unit elastic

Therefore, the elasticity of supply is zero means, it is perfectly
inelastic supply.

2018 - May

[32] The Cansumer is in equilibrium when the foltowing condition is satisfied:

(a) Budget line is tangent to the Ic curve

g . U
T WP

{c] Beth (a) and (b)

{d) Nane of the above

Answer:

(c) Condition for consumer attaining equilibrium is the uﬂmﬁ E_mﬂm the
¥

LS =
B P

(1 mark)

budget line is tangent to the indifference curve and

Hence, option (¢) is correct.”
[33] Which of the following statement is correct?

(a) Supply is inversely related to its cost of production

(b} Price and guantity demand of a goad have a direct relationship

(o] Taxes and subsidy has no impact on the supply of the product

(d) Seasonal changes have no impact on the supply of the commadity

(1 mark)

Answer: =

(8) Ineconomics, supply refers to quantity of product available in market
for sale at a specified price at a glven polint of time.
Supply of a product has an inverse relation with cost of production.
Example A selier would supply less quantity of product in market
when the cost of production exceeds the market-price of the product.
In such case, the seller would wait for a rise in the price of the
product.
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[34] When the supply of a product is perfectly inelastic then the curve will be

(@) Parallel to Y-axis (b) Parallel to X-axis

(c) Atthe angle of 45° Ad) Sloping upwards

Answer : :

(a) If due to achange inthe price, the quantity supplied of goods remain
unchanged, such goods are said to have inelastic supply i.e. there
supply cannot be changed. This is shown by the vertical supply
curvs i.e, curve parallel to Y-axis.

o YA S

(1 mark)

&

Py

—
. Dmaq.. “
[35] In the case of , there is an inverse relationship betwesn
income and demand for a product.

(a) Substitute goods {b)} Complementary goods

(c) Giffen Goods (d) None of the above

Answer : .

(¢} Giffen goads are the products for which demand increases as the
price increases and falls when the price decreases. These is a
special case of inferior goods which pecple buy less when their
income rises. Hence, an inverse relationship is established between
income and demand of the product.

[36] It maize has - 0.30 as income elasticity of demand, then maize will be
considered as

(a) Necessity

(c) Superior good

{1 mark)

(b) Inferior good

(d) None (1 mark)
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Answer :

(b) Since M?w ﬁmoﬁm elasticity of maize is — .30 < 0, it is an inferior
%30&? in ﬁm eyes ,oﬂ the housshold. The demand for inferior
goods Am.ﬂ as incoma rises. Also as the elasticity is less than one,
it shows .,“3& the goods is either relatively less important in the

: consumer's eye or it is a necessity. g
{371 It price decreasss fron T 80to T60 and elasticity of demand is 1.25 then
{a} demand increase by 25%
{cj remzirs constant
Answer:
(d) Prica Slasticity = m,mﬁm:.ﬂmm e change Ebcm&:« demanded
Percentage change in price
given, = Elasticity = 1.25

% change in price = .@% 25%

(b} demand decrease by 25%
(d) None of the above (1 mark)

25%
Increase in Demand = -31.26%
Hence, option (d) is correct.

[38] Which of the following is / are the conditions of theory of consumer
surpius f the price is same for all the units he purchased? ’
{a} The consumer gains extra utility or surplus
{b) Consumer surplus for the last commodity is zero
{c} Both
(6) Nonse
Answer:

(¢) The concept of consumer surplus is based on the law of diminishing
marginal utilty, If a consumer gets extra of something, its marginal
unity starts decreasing Keeping the price same for all the
commodities, a consumer gets extra utility forthe units consumed by
him except the onse at the margin i.e. the last unit. The extra utllity
obtained by the consumer is Known 28 consumer surplus,

{1 mark}
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- of an indifference cunyg {Chanter - |
. he following iS not the property «

5% a0 S e args 1o the right £ o

(a) Slopes downw o 8 rigin (d) Fa

X
(o) Always conve _ ‘ .
(c) Intersects omn:.o%mﬂ e 1y '
(dy Will not touch either O m,

: < . H H cu - ; . »
>=««.ﬁ ‘tollowing are the properties of w: indifference curves s,
i i 1t slopes downwards to the rign 142 sﬂms

2. Itis convex to the origin : o m0m

3. Two ICs never intersect each othe : . Amw |

4. Higher IC represents a nigher level of satisfaction ot

m” IC never touches either axes = ”, Eﬁma

Thus option (¢} is not the property of an indifference curve,.  (b) c“

[40] Which of the following is carrect = ; ; .
ta) Elasticity on the lower segment of demand curve is greate! =

unit _
(b) mmm%m% on the upper segment of damand curve is iesser thany
(c) Elasticity at the middle of the demand curve is equal to unly
(d) Elasticity decreases as one moves from the lower parlt
demand curve to upper part (18
Answer:
(c) Paint elasticity at any point can be measured by the following
RT_ lower segment - ,
Rt upper segment
;- Bty on lover sagment o demana curve s ess
. mwm,w:ozw Ma % Bﬁn_m of the demand curve is equal toil (43 Whic
‘ & upper segment of the demand curve (&) V

than 1 = @OV

*  Elasticity increases on one moves from the lower patf ¥

) Which of e nd QuIve 16 upper part. : B
[41) hich of the tollowing will affect the demand § able §  Ansy
la) Disposahle Income il Gl

(b) Price

_ ‘ i
{d) Al of the above

1

(c) Demography
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Answer:
(d) Factors affecting the demand for non-durable consumer goods are
1. Disposable income
2. Price
3. Demography
Thus, optlon (d) is the correct answer.

2] When the price of tea decreases, people reduce the consumption of
coffee. Then the goods are
(a) Complementaries
{c) Interior goods
Answer:

(b) Substitute goeds are those goods which can be interchangeably
used. Example, tea and coffee, ink pen and ball pen. If the price of
a product falls the people will try it and thus, the demand for the
other product will fal!.

(b) Substitutes

{d) Normal goods (1 mark)

Y

P

Price ootiee
)

cC Qo o
Tez Ceman

3]"Which of the foilowing re'ation is true with MU?
(a) Wnen MU is positive, Tctal utility rises at a diminishing rate
(p) Wnen marginal utility s zero, total utility is maximum
(c) When marginal utifty is negative, total utility is diminishing

{d) Allof the above (1 mark)

Answer:

(d) The relationship between marginal utitity (MU) and Total Utility (TU)
is as fallows:

1. When MU decraases Tl increases al a decreasing rate
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2. When MU is zero, TU is maximum

3. When MU becomes negative, TU declines.
Y

mga

Cosurption ™ MU

[44] The price elasticity of demand at the midpoint of the straight - line
demand curve under point method is

(a0 (b) 1
(c) >1 (d) <1 (1 mark;
Answer;
(b} -Given a straight line demand curve, point elasticity can be czlculated
through.
AT _ lower segment
Rt uppersegment
Elasticity at various points:
Yy gias
b
)I/ @l
SN\
N, Ret
«_/»i
m //w <1
r/
b X
Qersly

Thus, price elasticity of demand at mid point under point method is 1.
[45] Contraction of supply Implies

(a) Decrease in cost of production

(b) Decrease in price of the good concerned

(c) Decrease in price of related good

(d) Increase in price of the guod concemed

(1 mark
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[Chap
Answer: it known as
s , (48] Total utility is also iet
(b) Contraction in supply is the result of decrease in price of the goods (a) Total satiety (b) Dmmﬂmwwww%wwn_m y (1 mark Ar
by 5 (c) Full satiety R | (a)
Answer: e S ;
ﬂ S (a) Totalutility is measurable and mca;_,‘\m total c:_a\ may Um\mm fined as
P the sum of utility derived from different units of a commadiy
& ’ consumed by a consumer. A5 :
M Pt Total utility is the sum of total marginal utilities derived from thg
m.\ E—— consumption of different units i.e.
TU = MU, + MUy + coovviennr + MU, j
o) al Q > X - We can say that total utility is also known as total satiety.
Quantity [49] A vertical supply curve parallel to y axis implies the elasticity of supply
4 ' is ,
.\..Eﬁﬂmaw:mgm commodities will have MMW NM_M:
a) Perfectly elastic curve b) Pertect LR
(c) Elastic an ngmzw inelastic curve Mo (c) Ecual to one
Answer: {d) Greater than zero but less than infinity (1 mar)
(b) WmeMcmwe %Mmé o1 perishables goods is perfectly Inelastic. Abwmin:
nable goods cannot be stored for a long time, if stored, the a) A Vertical supply curve paraliel to y- imoli :
same will be wasted, thus, its supply is _NBMWSQ and cannot be supply is Zero, % ViR npleuihg: vt N
changed in short run. : (51} T4
P e—— Y 8 4
_ m a
12019 - NovemBer | W MwM
‘ & (c)
[47) Supplyisa _____ concept. % d
(@) MQS L (b) Stock 0O >
Muw. !&Nﬁw (a) and (b} (d) None of the ahave (1 mark) : Quartity Suppiied Ar
: 50] Budget ling is af {c
(@) Supply refers to what a firm offer for sale in the market, not (a) Price line g
necessarily to what they succeed in selling. What is offered may nof (@) Iso-quan (b) 1so cost line
get sold, (d) None (4 makd

m:wne is a flow concept. The quantity supplied is ‘so much’ per unit
of time, per day, per week, or par year.
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Answer: \ :
(a) Budget line shows all those combinations of two goods which the

consumer can bly spending his given money incomes on the two
goods at their given prices. All those combinations which are within
the reach of the consumer. Will lie on the budget line.
P.O+P,Q <B
Where Budget line is also called price line.
P, Q, = Price and Quantity of good X
P, Q, — Price and Quantity of good Y
B is the Budget

s
Priceline
This peint is efferdalde as it
/Aﬁ mnn%: the buiget lire

OH

Good Y

X

= Geod X

Points K and H are not affordable because of budget constraints.
[51] The Quantity supplied of a goods or services is the amount that____ -

(a) As actually bought during & given time period at given price, '

(b) Producers wish, they could sell at higher price

(c) Producers pian to sell during a given time period at given price.

(d) People are willing to buy during a green their period at a given price,

: {1 mark)

Answer:

(¢) The.quantity supplied of a good or services is the amount that
producers plan to sell during a given time period at given price.
The quantity supplied of a good also depends upon government'’s
industrial and foreign policies, goals of the firm, infrastructural
facifities etc. : .

Law of supply states that other things remalning constant, the
quantity of a good produced and offered for sale will increase asthe
price of the good rises and decreases as the price falls.
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<4, 2

P, B8

5 P eALE -

A
o> 0 gt
Cuartity Suppiied
Spply Curve

[52] Luxury goods have income efasticity ;
{(a8) Negative and less than 1 {b) Paositive and greater than 1

(c} Zero {d) None (1 mark)

Answer:

(b) Luxury goods have income elasticity is positive and greater than one.
- e (Ep> 1)

Demand for luxury goods arise beyond a certain isvel of consumers
income and keep on rising as income increases.
Eg.: Car, TV ete.
Elasticity greater than one when the percentage change in quantity
demanded is greater than percentage changs in prics.

s]

Ya /ff

Y
Price /./f
P, 5

A

W 7 R
CQuartity derrareiod

Elasticity is greater than one -
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[53] Percentage change quantity supplied is divided by ____ to obtain
elasticity of supply
{a) Percentage decrease in price
(b) Percentage change in price
(c} Bath (a) and (b)
() None
Answer:
(b) Percentage change in quantity supplied is divided by percentage
change in price to obtain elasticity of supply.
= Percentage changein Quantity Supplied
. Percentage changeinPrice
[64] If the price of the product is T 20 per unit and if the price decreases by
5% as a result of which quantity demanded increases by 10% find MR-
1 old quantity is 10 units}

(1 3&5

{a) 9 (o) 19 _
ic) 10 (d) 12 (1 mark)
Answer:
(a) :
Price (P) (3) Quantity units Total Revenue
: TR=PxQ
20 10 200
18 11 209
MA,=TR,-TR,,
MR, =TR,-TR,,,
MR, =209 - 200
MR, =9
[55] Law of demand relates to:
{a) Price only

(b) Price and quantity demanded of a good
{c) Quantity demanded cnly

(d) Supply (1 mark)

. 23 Syllabug)
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Remand Curve for Commodity X

(56] An in differance curve slopes down towards right since more of one
commodity and of another commodity resuit in
{a) Same level of satistaction  (b) Maximum satisiaction
(c) Greater satisfaction {d) Less satistaction
Answer:
(a) Indifference curve slopes down towards right since more of ane

commodity and of another commodity result in same level of

{1 mark)

satistaction,
The downward slope of ingi
e JIndifference curve two

ted for each other and when the amount
onisincreased, the amount of the other

.mwm::m_ if the level of satisfaction is ©©
ifference curve.

of one good in the combinati
good is reduced. This is e
femain the same on an ing
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YAl
Downward Sloping . ; . .
cuve Gm_ Demand forecasting by means of asking customer what they are going
/ to buy comes under:
(a) Survey of buyers intentions (b) Statistical method
lc (c) Grass roots method (d) Expert opinion method (1 mark)
0 -3 X Answer:
GOOD X (a) Survey of buyers _:826: a forecasting technique in which known
Indifference Curve purchasers of a product are asked to predict their requirements for
[57] Elasticity for habitual goods Is a given future period.
{a) Pariectly elastic (b) Elastic [60] When the price of petrol decreases, people reduce the consumption of
{c) Perfectly inelastic (d) Inelastic {1 mark) diesel then the gocds are:
Answer: (a) Mixed . (b) Complementary
(d) Elasticity for habitual goods is inelastic. Elasticity is less than one (e} Superior (d) Substitutes {1 mark)
when the percentage change in quantity demanded is less than the Answer:
percentage change in price. In such case demand is said to be (d) Substitute goods are two alternative goods that could be-used for
inelastic. - the some purpose. When the price of petrol decreases, people
g. . Percentage Change Quantity Demanded reduce the consumption of diesel.
§ Percertage ChangeinPrice [61] When price of apple is ¥ 120 per kg. Ram buys one kg. of apples at that
(58] Diminishing marginal returns for the first four units of variable inputs is price. Now if other things remains the same but the price of apples falls
exhibited by the trtal product sequences. to T 80 per kg. Now Ram buys 2 kg of apples. It is called as:
() 50,100,150,200 (b) 50,50,50,50 (a) Contraction of demand {b) Expansion of demand
(c) 50,110,150,260 {d) 50,90,120,140 (1 mark) (c) Markel demand (d) Demand schedule . (1 mark)
Answer: Answer: :
(d) 50,90, 120, 140 (b) Expansion in demand refers to a rise in the quantity demanded due
to a fall in the price of commodity, other tactors remaining constant
3unit it leads to a downward movement along the some demand curve.
% “mm Jo [62] To know the base price and quantity, which method of elasticity is used?
{a) Arc Elasticity (b) Cross Elasticity
(c) Point Elasticity (0} Zero Elasticity (1 mark)
80-50 dNo 0 Ko 120 Answer: ;
=40 =30 =20 (a) In Arc elasticity, it can be calculated by using the formula:

; m - Q._ & P+ Py
As MP,=TP, ~TP,, %% PP




4.85
[Chagter - 2] Theory of Demand and Supply

; 5 ntit
This is because elasticities found by using o:n,n__ﬁ__ m Mmﬂ w:%%:&m: m&
figures as base will be different from the one der
e Qﬁw man ammwaz wwwmwsa for X is 1 an d the average quantity
4 Tharpeo WO B i ; from ¥ 300 to-T 180
demand of X is 90 unlts. If the price of X decreases
ner unit, calculate the new quantity demand of X is:
(a} 126 units (b) 36 units
NQ 144 units (d) 120 units
Answer:
{a) It can be calculated by using formuta:
QQ R Q%0 30 .0 -126unis
Q@ P-5 8  300-180 :
847 If the gquantity supply changes substantially in response to small
changes in price of the good then it is:

{2 Relatively greater slastic supply

{p} Relatively less elastic supply

fei Uniary elastic

{d} Pertec: elastic

Answer:

{e) ¥ eizstcly of supply Is greater than one i.e., when the guantity
supplied of 2 good changes substantially in response to & small
change in the price of the good we say that supply is relatively
giastic,

{£5] If Indifference curve is L shaped, means two goods will be:

fa} Perfect complementary goods

(o) Perfect substitute goods

ic; Perfect inferior goods

icy Perfect superior goods

Answer:

{8} When two goods are perfect complements, they are represented

47 ehaned indi = by
Lot e s
& .&u\ : , s : ..mxum.w‘m 3&(0@8&.}@4&03 Oxmﬂw@‘uoam.
m%&%&m_ammmmugﬁuc:r i TR
ecrsiant and income also remai @ prioe of good A remains
(o THATE 2150 Temalins unchanged, the budget fine will shift-

(1 mark)

e =

{1 mark)

(1 mark)
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4. :

‘ axis {b) Right on OX axis

(a) Right on OY 25 () Left on OX axis

. 1 mark
(c) Lefton OY axis ( v

Answer:
() %
< | J_,wszf
z ,f 1:../
f/f e N
f b - X
e B- B
Goed B

Left on ox axis .
in this diagram, we can clearly ses that good B has shifted leftward

towards ox-axis. . ‘
[67] Purushotham wanted 10 buy laptop Dy paying % 60,000 but the actual
price is ¢ 55,000 then the consumer surpius is:

{a) ¥ 60,000 (b) T55.000
() ¥ 5,000 (d) 6,500 {1 mark)
Answer: : : v
(e) Consumer’s surplus = What a consumer is ready to pay — What he
actually pays fices
Consumer’s Surpius = 60,000 - 55,000
o SN A =¥ 5,000

1 2021 - JANUARY l*

[68] mmm%xm demand depends on.
(a) m;ﬁ (b} Cost
(c) Desire . (d) Product (1 mark)
Answer:
{(a) Price

m.:mﬂ?m amm:mm_a %wmaam upon various factors but according 1o the
m&m: Question it mainly depends upon price.
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38] Why does demand curve slopes downwards?
(a) Law of diminishing margina! cost
{b)} Arrival of oid consumers
(c) Cost effect
(d) Different users.
Answer:
{b) Amival of oid consumers
Generally, cemand curve slopes downward from left to right. It is
dus to many reasons such as law of diminishing marginal utility,
price effect, substitution effect arrival of old consumers and many
uses of a commodity.
0) What is not & ceterminant of demand?

[(a) Consumer’'s expectations
(b} Ceonsumer’s tastes and preferences
{c} Income of the consumers
{d} Frices of unreiated goods.

Answer:
{d) Prices of unreiated goods
Demand depends upon various determinants such as price, income,
taste and preferences, price ¢f related commodity, climatic factors
- efc.

] What zre exceptiors to Law of Demand?
{a} Law of Diminishing Marginal Utility
{b} Substitution effect
{c) Conspicuous goods
{d} Different uses.

Answer:

(c) Conspicuous goods
Generally law of demand slopes downward but sometimes it slopes
upward which is known as an exception to the law of demand. The
various reasons are Giffen goods conspicuous goods, during
emergencies etc.

{1 mark)

(1 mark)

{1 mark)
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{72] Identify the factor which generally keeps the price slasticity of a good
law:
(a) Variety of uses fof that good
(b) Very low price of a commodity
(c) Close substitutes for that good
(d) High proportion of the congumer’s income spent on it.
Answer:
(b) Very low price of a commodity
Price elasticity of a good is low if the ptice of a commodity is very

low i.e. it is inelastic.
[73] In the case of inferior goods, the income elasticity of demand is:

{1 mark)

{a) Positive {b) Zero
{c) Negative (d) Infinite (1 mark)
Answer:

{c) Negative
In the case of inferior goods, the income eiasticity of demand is
Negative which means that due to the increase in income the
quantity consumed (inferior goods) decreases.

[74] What is numerical measure of elasticity for “Perfectly Elastic”

(a) Zero

(b} Infinity

{c) Greater than one and less than infinity

(d) Less than one

Answer:

(b) Infinity
The numerical value of elasticity of perfect slastic = {=)

Y
A

o

Price
®

{1 mark)

N

Yo

X
0 Quantity —»

Q@
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[75] The price of 1 kg. of tea is T 30 demand at this price is 5 kg. If price of
coffee rises from 25 to 35 per kg. the quantity demanded of tea rises
from 5kg. to 8 kg. Find out cross elasticity of tea?

(a) ~1.5 {b) 1.6
(c) 3 {dy 1 (1 mark)
Answer:
(b) 1.5
Demand Price
5 kg. T30
8 kg. ¥35..
. A0, pY x-tea
Cross Elasticity = mmwymm y=Coffes
.58 25 +3.25_
= ﬂlqu Imi..ﬂloxlm||+A 5
{76] Supply is concept
{a) Flow : (b) Stock _
{c} Flow and Stock {d) None of the above. {1 mark)
Answer:
{a) Flow

Supply is & flow concept. The quantity supplied is se much per unit

~ oftime, per day, per week or per year. =43 :

[77] When supply curves moves g right, it means:

(a} Supply increases {b) Supply decreases

(c) Supply remains constant  (d) Supply expands

Answer: ,

(@) Supply Increases . :
When supply n:&wu moves to right it means increase in supply.

(1 mark)
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r CA ﬂoczamao
ctiontoa thirsty boy,

4.90 SCAnNC
| i r satisfa
[78] The second glass of lemonade gives losse
This is a clear ommm of:
a) Law of demand |
MUW Law of diminisning ﬂmESm o
(c) Law of dimlnishing qu@_am_ utifity
(d) Law of supply.
Answer: :
(c) Law of diminishin
The second glass
boy. This is a clear case O

(1 mark)

inal utility Y i ;
mo“:_mmwr:mam gives lesser satisfaction 10 a thirsty

¢ diminlshing marginal utility.

[79] The quantity demanded of coffee increases by 2% when the price oftea
increases by B%, the cross elasticity of demand between twa product

are;
{a) ~0.30 (b) +0.30

{c) +0.25 {d) —0.25 {1 mark)
Answer:

(¢} Cross elasticity = Fercentage change in quantity demanded
Percentage changein Price
- NO\mV = |
8L 0.25
=0.25
o Hence, option (¢) is correct,
[ aé MMNWMMWJ are ,&mnﬁw with no close substilutes easily available and
UPY @ substantial place in consumers budget are called

@ goods:

a) Giffen

(¢) Speculative : (b) Oo:wﬂoco:m

‘Answer: © {d) Prestige (1 mar

(a} Such gaods which exhibits direct

called Giffen goods, price-demand relationship are

Giffen goods are those inferior goods whosé
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demand increase as this price increase. Those goods which are
inferior, with no close substitutes easily available and which occupy
a subslantial piace in consumer's budget.
[81] Suppose the demanc for automobile decreases due to increase in price
of pstrol both the goods are:

(a) Normai (b) Substitute
(c) Perishable (d) Compiementary (1 mark)
Answer:

{d) Complementary goods are those goods which are consumed
together or simultaneously for example automobiie and Petrol. When
two commodities are complements, a fall in the price of one will
cause the demand for the other to rise, :

[82] Marshall defined the concept of consumer surplus as the _ ]

(a) Area covered in between the average revenue and marginal
revenus curve

(b} Difference between meximum amount a person is willing to pay far
a goods and the amount he actually pays

(c) Areainside the budget line

(d) Difference betwsan the minimum amount a psrson is willing to pay
for a good and its market price {1 mark})

Answer: . :

(b) Marshall defined the concept of consumer's Surplus as the
difference between what a consumer is ready to pay and what he
actually pays.

[83] Of the following who developed the Delphi technique of Demand

forecasting?

(a) Olaf Helmer

(¢) Michael Porter

Answer:

(a) Delphi technique, developed by Olaf Helmer at the Rand
Gorporation of the USA, provides 2 useful way to obtain informed
Judgement from diverse expert by avoiding the disadvantages of
conventional pansl meeting.

(b) David Richardson

(d}) J.M. Keynes (1 mark)

4,92 Scanney CA Foundation Paper - 4 (2023 Syllabus)
[84] Indifference curve analysis is based on which approach?
(a) Nominal (b) Cardinal
(¢) Marginal (dy Ordinal (1 mark)
Answer:

(d) Indifference curve analysis is based on ordinal approach. The
indifference curve analysis assume that utility is only ordinally
expressible. The consumer is capable of ranking all conceivable
combination of goods according to the satisfaction.

[85] Read the following table and answer guestion no (32 - 33)

Quantity consumed | Total utility
0 0

300
500
650
750
830 o=
890
930
8 v 960
What is Marginal utility whan consumption increases from 4 units to 5
units? _ G

NI =

(a) 130 (b) 80
(c) 160 (d) 100 (1 mark)
Answer: 3
(b) Marginal utility = Tu, - Tu, ,
; = .—..Cm ” .._..Ca ‘
=830 -'750 !
=T 80

Hence, (b) is correct.
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[85] What is Marginal utility when consumpticn increases from 7 units o 8

units? 100
a) 60 (b
Mgv 40 (d) 30 (1 mark)
Answaer:
(d) Marginal utility = Tu, - Tu,,
: =Tuy - TUg
=Tug - T,
=960 - 930
=130 _

Hence, option (d) Is correct. B
[87] The price of a commodity decreases from ¥ 200 to ¥ 120 per unit. If the
price elasticity of Demand for this commadity.is 2 and the original
. Quantity demanded is 60 units calculate the new quantity demanded,

{a) 48 units (b) 100 units .
{c} 120 units {d) 108 units - {1 mark)
Answer:
(d) Original quantity demanded = 80 units
elasticity = 2 times
criginal price = %200
new pric =3120
; & AQ P
Price el =0
rice eiasticity AP X )
AQ . 200
P, VY
80 * B0
AQ=48

New quantity = original quantity + A Q
= 60 units + 48 units
=108 units, .
[88] A group of peaple decreases or altogether stop consumption of a
common product due to which of the following effect?

(a) Veblen effect (b} Demonstration effect
(c) ‘Bandwagon effgrt (d} Snob effect, (1 mark)

Scanner CA Foundation Paper - 4 (2023 mmzmwcﬁ
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Answer:
{d) When a product becomes comm

decreases o attogether stop its con

etfect. by Status seeking rich peopie g
) ; ods are consumed by ; s :
[89] Highly U:mm:wma for conspicuous consumption. This is called:
satisfy their (o) Demaonstration eftect

MMW MMMMM%MM& (d) Bandwagon eftect

ﬂﬁmﬂwh_w: effect was given by Veblen. Hence, it is called Veblen effeq,

also known as prestige goods effeet. <ma._m: m.:mo.ﬁ ﬂmwmm _.u_mom a3
some consumers measure the utility by its price i.e. if price rises
them they think that commadity has got more ulility. Veblen effectjg
the behavior practiced by rich people to satisty their need for
conspicuous goods. = e :
[90] For which of the following product elasticity ot demand is highly elastic?

on among all, some Deopig
sumption, this is called sngy

(1 mark)

{(a) Salt (b) Jewellery -
{c) Life saving medicines (d)Water. {1 mark)
Answer: .

(b) Jewellery have elastigity of demand is highly elastic because dueto
ingrease in price of jewellery more will be demand on the other hand
necessaries goods like salt, water, medicines have in elastic in
naturs,

[91] The indifferences curve for two perfect complementary goods is

(&) Z shaped
(¢} U shaped
Answer:

(b) When two goods are
cartridge), the indiffe
with a right angle be
it will be L shaped.

[92] Assume that wheat have (-)0.4 as income elasticity by this we can say.

{b) wheatis an interior good

{d) wheatis a tuxurious good
: (1 markl

(b) L shaped

(d) Straight line’ (1 mark)
pertect complementary goods (e.q pointer and
rence curve will be consist of two straight lines
ntwhich is convex to the origin or in other words

(a) wheatis normal good

(c)

wheat is a superior good




{Chapter - 2] Theory of Demand and Supply 4.95

Answer:

(b) Since the income elasticity of wheat is - 0.4 < 0, it is an inferior
goods. The demand for inferior goods fails as income rises. Also the
elasticily is less than one it shows the goods is either relatively less
impartant in the consumer eye or it is a necessity.

If price is ¥ 30. then find the elasticity.

@ +15 b) -0.5
(c) +0.66 {d) —0.68 {1 mark)
Answer:

(a) Etasticity of demand measures how the quantity demanded of a
commodity will change in response to the changes in its price.
Elasticity of a good depends on the factors like nature of the good,
availability of substitutes, incoms level, share in the axpenditure
sic.

Hence,
Es= &P
d g

Since, H= 20,
aomﬂumo

p =30,
q=20x 30 - 200
q=400
;s L 20x30
Es= 0 =15
[84] Who coined the term ‘Demonstration effect’?
(8) Adam Smith (b) Veblen

(¢} James Duesenbury (d) Alfred Marshall

(1 mark)

4.88

[99]

(98]
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Answer:

(c) James Duesenberry {1949) gave the name "demonstration efiect”
to this phenomenon, arguing that it promoted unhappiness with
current levels of consumption, which impacted savings rates and
conséquently opportunities for macroeconomic growth.

MRS from X to Y can be defined as

(@) Change in Y to change in X

®) p/py

{e) p,/p,

{d} Change in X to changs in Y (1 mark)

Answer; : :

(b) MRS is calculated between two goods placed on an indifference
curve, displaying a frontier of utility for each combination of “good
X" and “good Y." The slope of this curve represents quantities of
good X and good Y that you would be happy substituting for one
another, :

in case of goods, the demand will rise to the fall of price only if

substitution effect outweighs the income effect.

(a) Inferior goods (b) Necessaries

(c) Giffen goods (d) Luxury goods.

Answer;

(8) The increase in demand on account of an Increase in real income
i3 known as income effect. When the price of a commaodity falls, the
consumer can buy the samae quantity of the commaodity with lesser
money or he can buy more of the same commodity with the same
amaunt of money. In other words, as a result of fall in the price of
the commeodity, consumer's real income or purchasing power
Increases. A part or whole of the resulting increase In real income
can now be used to buy more of the commodity in question, given
that the good is normal. Therefore, the demand for that commodity
(whose price has fallen) increases. However, there is one
exception. In the case of inferior goods, the income effect works in
the opposite direction to the substitution effect. In the case of
inferior goods, the expansion in demand due to a price fall will take
place only if the substitution effect outweighs the income effect,

(1 mark)
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[97] The value of demand elasticity can be taken from ___—
fa) —1to+1 (b) —1to=
(c) Oto= (d) -110 (1 mark)
Answer: ,

(a) The elasticity of demand for a given good or service is calculated
by dividing the percentage change in quantity demanded by the
percentage change in price. if the elasticity quotient isgreater than
or equal to one, the demand is’ considered to be elastic.

[98] Consumer surplus is derived from which concept?

{a) Law of Diminishing Marginal Utility

{b) Law of consumer surplus

(c) Law of indifference curve

(d) Maximization of Profits (1 mark)

Answer: -

(a) Consumer surplus is derived from the taw of Diminishing Marginal
utiity. Cor sumer surplus is based on the economic theory of
marginal utility, which is the additional satisfaction a consumer
gains from one more unit of a good or service. Consumer surplus
always increases as the price of a good falls and decreases as the
price of a good rises.

[99] Law of Diminishing Marginal Utility is derived from

{a) indifference curve (b) consumer surplus

{c) maximization of profits- {d) expansion of firm {1 mark)

Answer:

{b) The law of diminishing marginal utility states that all else equal, as
consumption increases, the marginal utility derived from each
.ma%s_:m_ unit declines. Marginal utility is the incremental increase
in utility that resutts from the consumption of one additional uniti.e.,
cofnisumer surplus,

[100] Hicks and Allen believed that utility
(a) can be measured in ordina numbers
(b) can be measured in cardinal numbers
{c} can be measured .

f cannc! ’

(d) ot be measured (1 mark)

[101] At the point of satiation, TU is

[102] Demand refers 1o

[103] Budget Line will be affected by

scanmer CA Foundation pPaper - 4 (2023 Sylabus)

ility can be measured in ording

numbers. The 0.«%39, mﬁﬁu<mwm ot demand is based on 5&%&@§

‘ ; mmmunﬁm«%@omm«mo:gf An
which re resent the consum .
mcaﬂw ,wm:am Mcé@ is a curve which represents mm those
M_Qrwmamzo:m of two goods which give same satisfaction 10 the
consumer.

Answer: . ‘,
(a) Hicks and Allen pelieved hat ut

___and MU is
(b) Minimum, minimum

(a) Maximum, zero (d) Maximum, Maximum. (1 :éa

(c) Zero, Maximum

“ 4+ ) & - -
ot is Zero, Total Utility 18 the maximum and

a) When Marginal Utility tal U : :
sl is the point of maximum satistaction. i.e., point of satiety.

(a) Need for a commodity

(b) Use for a commodity

(c) Unlimited wants :

(d) Itis a desire backed by purchasing power, ability and willingness
to pay. : (1 mark)

Answer

(d) The eftective demand for a thing depends on (i) desire {ii) means
to purchase and (iii) willingness to use those means for that
purchase. Unless desire is backed by purchasing power of abillty
to pay and willingness to pay, it does not constitute demand
Effective demand alone would figure in economic analysis and
business decisions. .

i,

{a) change in demand () changs & in
. ge in income

¢) change : : 5 : ,
Vw.-iwz ikl (d) change in equilibrium {1 a»&,
® i Enoﬁ 2int can be explained by the budget line o pricd
o_wmm In simpla words, a budget line shows all those combination®
f two wwonm which the consumer can buy spending his givet
B @ on the two goods at their given prices. All thos
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combinations which are within the reach of the consumer
(assuming that he spends all his money income) wili lie on the

budget fine.
{104] Utility can be measured in
(a} Units (b) Utiis
{c) Points {d) Numbers - .(1 mark)
Answer:

{b) According tc the neoclassical economists, utility is a cardinal
concept i.e., utility is a measurable and quantifiable entity. It
implies that utility can be measured in cardinal numbers and may
be assigned a cardinal number like 1, 2, 3 etc. Marshall and some
other economists used g psychological unit of measurement of
utility called utils. According to Marshall, utility is the numerical
score in terms of ‘utils’ representing the satisfaction that a
consumer obtains from the consumption of g particulargood. (Utils
refer to the hypothetical measuring unit of utility),

(105] Which of the following is the propsrty of IC?

(2} IC is concave to the origin

(b) ICs intersect each cther

{c) IC sicpes upward 1o the left

{d} IC does not touch either x-axis or y-axis

Answer:

(d) The four properties of indiffersnce curves are:

1. indifference curves can never Cross
2. the farther out an indifference curve lies, the higher the utility
it indicates
3. indifference curves always siops downwards, and
. 4. indifference curves are convex, ) .
:oﬂ?mamm_anmg >m8§m:mwmmm€m:cm_o§m8

Price (in ¥ | Quantity Demanded

lakis) (No. of Aeroplanes)
250 52
252 52

{1 mark)

———e—.
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259 - 52
268 52
272 52 A

This represents

{(a) Perfectly inelastic demand
{b) Perfectly Elastic demand
(c) Unit Elastic

(d) Reiative Inelastic.
Answer:

(@) Perfectly inslastic demand

(1 mark)

[107] During lockdown due to covid 19 a consumer finds the vegetable

vendors selling vegetables in the streets have raised the prices of

vegetables than usual prices. She will buy vegetable than/as

her usual demand showing the demand of vegetable is

(a) Same; Elastic demand (b) Same; Inelastic demand

(¢} Less; Elastic demand (d) More; Inelastic demand (1 mark)

Answer:

(b) During lockdown due to covid 19 a consumer finds the vegetable
vendors selling vegetables in the streets have raised the prices of
vegetables than usual prices. She will buy same vegetable
than/as her usual demand showing the demand of vegstables is
Inelastic demand.,

[108] For giffen goods the angle curve is: :

(@) Vertical {b) Horizontal :
- {¢) Negatively slopped (d) Positively slopped (1 mark)
Answer:

(c) For Giffen goods the angle curve is negatively slopped. A Giffen
good is a low income, non-luxury product that defies standard
economic and consumer demand theory. Demand for Giflen
goods rises when the price rises and falls when the price falls. in
econometrics, this results in an upward-sioping demand curve,
contrary to the fundamental laws of demand which create a
downward sloping demand curve.
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{b) Arc elasticity
{(d) None of the above (1 mark)

{a! The point elasticity of demand is the price elasticity of demand at

a partcular point on the demand curve. The change in price

elasticity when is infinitesimal (very negligible) we use point

(110] Crarge in price is larger than proportionate to change in demand
which tvpe of elasticity?

fa} Eastc {b} Infinite’
icy Zero {d} Inelastic (1 mark)
Answer:

¢l Demand is inelastic when change in price is larger than
oropenionate he change in demand. v
clasticity < 1
Cemanrc curve of elasticity less then ons.
[17°] Vebler eect slopes toward:
=) Downrwarc o
ici Negatve
Answer:
&} Tre demanc curve for a veblen good is upward sloping, contrary
to 2 nomal demand curve, which is downward sloping.
Vihen price of 2 vebler good goes up, demand goes up.
i112] Advertising elasiicity of demand is always:

(b) Upward

{d} Paositive (1 mark)

{aj Pcsitive {0} Negative
{c} Constant {dy All of the above {1 mark)
Answer:

{z) h%mﬂmmam% slasticity of demand is most of the time positive. -
n.uemﬂmwﬁma elasticity is typically positive.
Advertisemert elasticity varies between zero and infinity.
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4,102 ds is:

imentary gooes =

{ 00:‘:0:3&2 : e

raph of pertec (b) L shape
[113] NM@ m~ Emmrw line EW none of the above (1 Mg
d :
(c) Ushape i

Answer: ect o«:ﬁ:-ﬂ@nﬁm. consumers Co camga

rence, fudlive 1. mﬂwmwamxomnzo: of law of demand?

ieh of the following is EIapen %
ik E_,._nm,.%% mmoaam (b) Conspicuous WMMMm
MJV .,.a_zum goods % {d) None of thea
Q .

er: : b ving .
ﬂ_wmﬁza goods are heavily nqowa &oi mMMMMmm wmoocaw
Ex- Computers, radios, washing machi dexie A
Every other good example giffen goods, conspicu o 9oodsang
speculative goods are exceptions ta law of demand. |
{115] When price increases fewer units are soid which tends to lower fy
revenue? .
(a) Income effect
{c) Quantity effect
Answer: ;
{c) Quantity effect, after a price increase, fewer units are sold, whit
tends to lower tha revenue. _
If the quantity effect, which sends to reduce total revenue, st
stronger, total revenue reduces.
(116] The price of sugar falls.from % 10,000 to T 8,000 & Quantity decreas

from 2500 to 2000 find elasticity of
i ity of supply

{1 magg

(b} Price effect

(d) Substilution effect (1 marg

(o) 1
(€) -1 . "
Answer; | (d) 2 (1 mand
(b) E(sy= 29, P _ 2000 2500
[117] The law of Qo o< a,sne
eémand states that :
(@} Varies Inversely with vMMM the quantity purchased :

{b) Varies directly Proportional with price
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(c) Varies similarly with price

(d) None of the above

Answer:

(a) Varies inversely with price .
Reason: The law of demand states that the quantity purchased
varies inversely with price. In other words, the higher the price, the
lower the guantity demanded. This occurs because of diminishing
marginal utility.

[118] I the quantity demanded of mutton increases by 5 % when the price
of chicken increase by 25% the price elasticity of demand is -

{1 mark}

{a) 02 (b) -1

(c} O (d) 0.8 {1 mark)

Answer:

o : .+ .. _ DemandofGoodX (%) _ 5% _

(a) Cross Price elasticily i& = “grc0 of mooa,%wou = 55 = 02
[118] A veriica! supply curve parallel to y axis implies that the elasticity of

supply is -

{a) Zero {b) Infinity

{c) More than one {d) Less than one (1 mark)

Answer: .

{a) A vertical supply curve parallel to y axis implies that the elasticity
of supply is inelastic (highly) and is zero.

- No change in demand when price changes
[120] If customer is a habitual customer then elasticity Is -

(a) Relative elastic (b} Negative

{c) Zerc .+ {d) Inelastic

Answer:

(d) If a customer has habitual use of a commodity, N0 matter how
much its price changes, the demand for the commodity will be
inelastic. if buyer have preference demand will be inelastic. -

[121] Consumer surplus what he is willing to pay less-
{a) What he actually pays (b) The price of the goods
(c) Money spent on goods  (d) All of the above

{1 mark)

(1 mark)
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Answer:

{(a) Consumer Surplus:
= What the consumer is willing to pay - What ne actually pays.

[122] If advertisement is increased by 25% & demand is only increased by
5%. Find advertisement elasticity.

{a) -1 {b) 1
(c) 0.2 (d) .o.w (1 mark)
Answer:

Increase inDemand |, 5% _ g2
: Advertisement Exp. 5%
[123] When demand decrease due to price increase It is?
(@) Change in demand {0} Increase in demand
(c) Contraction in demand (d} Decrease in demand
Answer: .
(c) When demand decreases due to price increase itis caontraction of
. demand.
[124] An indifference curve is L shaped, then two goods will be .
(a) Perfect substitute goods
(b) Substitute goods
(¢) Petfect complementary goods
(d) Complementary goods
Answer: :
(c) When two goods are perfect complimentary goods, Indifterence
curve will be L shaped.

(c} Advertisement elasticity =

{1 mark)

{1 Emnx.u

[125) When the elasticity of supply is infinite, the curve will be:
{(a) Parallel to X-axis ;

{b) Parallel to Y-axis

{c) Upward sloping

(d) Downward sloping (1 mark)
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Answer:
{a) Wren elasticity of supply & B ._
(i) Perfectly elastic (Es ==) Curve is paraile! 1o X - axig.
(i Perfecty meiastc ( E,=0}: Curvess u&@E toy-axis
(i) Unit elastic (E; = 1) . Curve is upward sloping and cuts the

oa@M_‘ . .
vy Lesselastc(0<Es<1): Curve is mere glopier and cuts x-

axis :
(v} Greaver elastic {1 <(Es <=} " Curve is more fiatter and cuts

128] Ram mam sons are going for heavy advertisement campaign 10
enhance ther sales. When analysed it was realised that the
expenditure on advertisement Dy the company has gone up from

¥ 2 00.000 to 3.00,000 and the sales of this praduct increased from 10

iakh units to 20 lakh units. What is the advertising elasticity of

demand? )
(&) -1 (b) 4
{cj 2 {d) 3 (1 mark)
Answer: ]
(c; Advertisement elasticity = _ﬂﬁgsg
acdvertiserment Bxp.
= @i‘%ﬁ
T A
= 0L, 200,000 =9
1000000 1.00,000

127 i ms quantity demanded of mutton increases by 5% when the price of
chicken increases by 20%, the cross price elasticity of demand
between mutton and chicken is; .

me w.mm by -4 :
(cj ¥ {d) -0.25 {1 mark)
(aj E,=- Zedargginquartity demerded

Y Chenge in price

. & P b
- Pl VP A =
9] e X¥% 0.5

scammer CA Found

4106
in a year consequantly e
ncome elasticily of demandy

s by 20%
[t28] me M:c%ww % what is i
(@) 1.5 g
. {d} 5

(cy 0.4
s, change in dermended

Answer:
sl i‘lll.hu'l.\il.‘l;...rrs =

(a) income elasticty = ~ 5o ginincome

hold income rise
TV sets rises by 30

X_15

= e—

ation Paper - 4 {2023 mﬁmm&m&

ch

{1 marg

20
elasticity of demand gy

[129] Which-of the following methods calculates
using formula?

lower segment of demand curve
upper segment of demandcurve
{a) They are elasticity method
(b) Cross elasticity method

{¢) The income elasticity method
(d) The point elasticity method

Answer: (d)

{1 mark}

Lower segmant of dermand curve

{(d) Point elasticity of demand =
: Upper segment of demandcurve

[130] When marginal utility is zero then total utility is:

(a) Maximum {b) Lower
{c) Negative (d) Increasing
Answer:

{a} Relationship between TU and MU:

(1 rhark

{iy TU rises as long as MU is positive, but at a diminishing raté

5 because MU is diminishing
(i) MU diminishes throughout

(i) When MU = O, TU is maximum it is the satiation point

(iv) When MU is negative, TU is diminishing

(V) MU is the rate of change of total utility or it is the siope of TU

curve
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{vi) MU can be positive, zero or negative. Answer:

Max. TU (a) Theincreasse in demand on account of an increase in real income
is known as income effect.

[134] If the price of good X increases, demand of good Y also increases, the

TU

["7’\

TU
‘ two goods are:
Units (a) substitutes (b} complementary goods
{c} normal goods . (d) gitfen goods (1 mark)
Answer:

(a) Substitute mooam are those goods which can be interchangeably
used. Example, tea and coffes, ink pen and ball pen. It the price
of a product falls the people will try it and thus, the demand for the
other product wilt fall.

e

Zero MU

Units

131] The extent to which the demand for a consumers’ good is decreased v
owing to the fact that others are also consuming the same 8338_:\ D
refers to:
(a) Bandwagon effect (b} Snob effect m P
{c) Veblen effect " {d} None of the above {1 mark} s
Answer: : -
(b} By Snob effect, we refer to two extent to which the demand for a m P
consumer's goed is decreased owing to the fact that others are
also consuming the same commodity. -
132] Suppose the Income elasticity of air conditioners is +1.8, s:_o_._ kind of o . . X
good is an air conditioner? : Q G
{a) Conspicuous goods (b) Normal good Tea Demerd
(c} Inferior good {d) Superior good - {1 mark) .
Answer; :
(b) Income elasticity will be positive in case of a normal goods, As Air  [135] The Delphi technique of demand forecasting is aiso called:
condltioner Is a luxury goods and there is no precise definition of (a) Expert opinion method (b} Collective opinion method
a luxury, but one might expect the income elasticity to be greater (¢) Controlled experiments  (d) Barometric method {1 mark)
than +1. Answer:
133] Mnd»:i%o in demand due to increase in real income of a consumer is (@) The Delphi technique which is als0 known a3 Expert Opinfon
: ] : A : method is developed by Olaf Helmer at the Rand Corporation of
) e R s el e il the USA, provides a useful way fo obtain informed judgements
from diverse experts by avoiding the disadvantages of

conventional pane! meeting. Under his method, instead of
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uyers and salesman, firm solicit
rts through a series of carefully
asked to provide forecasts

depending upon the opinions of b

the opinion of specialists or expe

cesigned questicnnaires. Experts are

eng reasons for their forecasts. .

[136] Which of the following is not a statistical method of torecasting?
fa) Survey of buyers’ intentions

{b) Regression Analysis

{ct Freenand projecticn methed

{d) Leastsquare method

Answer:

{2) Statistcal method have proved to be very useful in forecasting
demand. Forecasting using statistical methods are considered as
superior metheds because they are more scientific, reliable and
free from subjectivity. '
import statistical methods of forecasting are:

(} Trend projection methad, which is also known as classical
method, its popular technigues are:
(a) Graphical Method, Is &lso known as Free hand,
{b} Fitting trend eguation is also known as Least Square
idethod
i) Regression Analysis this is the most popular method of
forecasting.
[137] Ar indifference curve represents those combination of two
commacities which give consumer:
”m”_ Equal satistaction (b) Greater satisfaction
{c; Less satisfaction (d) No satisfaction
Answer:
&) MM_% %mwm‘omﬁ“ &m:_w\o of two commodities represent those
[138] “Which of So foliowin . ﬁ-m e m.n..._n_ .wm"_.n_mo:o:.
b Oocortrot g is NOT meant 3 liveralisation?
(©) Freedom : {b) Disinvestment of PSU's
dom 1o do business  (d) Deregulation

(1 mark)

(1 mark)

{1 mark)

scanner CA Foundation Paper - 4 (2023 Syllabug)
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Answer: RIS S ins for running a business withoy
my liberlisation aims .
(b) Inan %%w@wm <_=6 without having any cantrol, without any
,M_ <c_m:o:m. There is NO nindrance for doing any Ucm_zmmw.
[139] ézosma the following is not an assumption of marginal utility analysig? ¢
(a) Consumer B:o:m_:.x x
(b} Cardinal measurability of C_E_Q
(c) Ordinal measurability o.* utitity :
(d) Continuity in consumption (1 mark)
Answer: r
(c) Ordinal measurability of utility means that utility can be rankeq,
which can be possible only in indifterence curve analysis and not
marginal utility analysis. m

[140] It demand of Bajra decreases due to decrease in its price, then Baja
15 a.
(a)} Supetior Good
{¢) Necessity Good
Answer:
(b} Inferior Goods
: the price of Bajra decreases, there will be increase in real
income of consumars that will lead to decrease in demand for
Bajra. Hence, it is Inferior good.
[141] There is decreasa in price of LED TV after budget announcement from
M 60,000t0% mo.o.oo. As aresult 1o which demand for it has increases
rom 1500 units to 2000 units. Elasticity of demand for LED TV will &

(b} Inferior Good

{d) Luxury Good (1 mark)

i) (c) 157

(©) 0.63 .

B (d) 0.87 (1 mark)
(b) 1.57

mo = 80,000, P, = 7 50,000, 4P = 50,000 - 60,000 =~ 10,000
o=1500 units, Q, = 2000 units, » Q = 2,000 - 1,500 = 500 units
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' _Q PR 50 | 110000
m*m%nmwaomanauﬂ Q.,Dnl S.ch S50

=—157 = 1.57
142] Price effect is described as which of followings?
~ {a) Income Effect + Vebien Effect

{b} Substitution Effect + Veblan Effect

{c) Income Effect + Substitution Effect

{(d) Veblen Effect + Demonstration Effect

Answer:

{c} Income Effect + Substitution Effect
Price Effect = income Effect + Substitution Effect

143] increase in price of pulses leads to increase in demand of green
vegetables:

{(8) Substitute Goods

{c) Complimentary Goods

Answer:

(&) Substitute Goods
Thers is an increase in price of pulses which leads o increase in
demand for vegetables. As the price of one good and demand for
another good shows direct relation, so they are substitutes.

'44] When two goods are unrelated, thern cross elasticity of dernand will be:

(1 mark)

(b} Normal Goods

{d} None of the above (1 mark)

(a) 0 {b) =
(c) 1 {d) (-1 (1 mark)
Answer:
() 0
When two goods are unrelated to each other, the cross elasticity
of demand is zero. :
45] Rightward shift of demand curve of coffes represents:
(a) Dacrease in Demand (b} Increase in Demand
{¢) Contraction (d) Expansion (1 mark)
Answer:

(b) Increase in Demand
As, there is rightward shift of démand curve, there are factors
other than price (non-price factors) or conditions of demand which
might increase the demantd of a particular good or service.

4112 Scanney CA Foundation Paper - 4 (2023 Syllabug)

[146] If the price of a gel pen increases from ¥ 40 to 7 50 and in response to
this the quantity demand decreases from 25 units to 20 units. The
coefficient of price elasticity will be:

(@ 1.25 (b) —1.25
(c) 0.8 (d) 0.8 (1 mark)
Answer:

(d) (-)0.8

P, =740, P, =% 50, QD, = 25 units, QD, = 20 units
aP =% S.pwoutm
D, Fo_ -5 40_
P x .ﬂml mmx == 0.8
[147] Suppose there is an increase in income by 15%, which increases
_ demand by 307, the income elasticity of demand will be:
(a) 0.67 B 0.5
fe} 2 (dy 1
Answer:
{c).2
aD = 30%, 2l = 15%
DUI 80\0 =
ol - as :
[148] it inditference curve is ‘L shaped then two goods will be called as:
(a) Perfect Superior Goods (b} Perfect inierior Goods
(¢) Perfect Quality Goods (d) Perfect Compiementary Goods
_ {1 mark)

Ep=

(1 mark)

Answer:

() Perfect complementary goods
It the indifference curve has ‘L-shaped, 't means that marginal
rate of substitution (MRS) Is undsfined because an individusls
preference donot allow any substitulion batween goods.
Eg: Right shos and left shoe.

[¥49] Who coined the term 'Demonstration Effect'?
(a) James Duesenberry (b} Thorstein Veblen

(c) Hicks and Allen {d) Alfred Marshall {1 mark)
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Answer:
imy A enberry
- Hsﬁawzwwa m%ﬂww term coined by James Duesenberry refers
o casre of goods o evaluate consumption behaviour of others.
1501 increase or Decrease in supply means: .
© ia). Shifts in supply ourve {b) Rightward or leftward shift
i) Expansion maiantaton  (d) Both (a) and (b) {1 mark)

Answer

4! Both (a) and (b) :
morease oF cecraase it supply is due 10 shifts in supply curve [.e.
rightward or leftwara shift which cccurs due to changes in non-

{b) Giffen Goods

{d) Normal Goods (1 mark)

{c} Necessaty Goods

{di Normal Goods
Nomma: Geods gre in agreement with Law of Demand . Sa, they
are ~Ct axcepton to Law of Demand.

1521 Movement aiong the same Demand curue represents.
{@! Changs in Demand (o) Change in Quantity Demand
(€} incregse n Demand (0) Decrease in Demand (1 mark)
Answer:
{t} Change in Quantity Demand
,uugmﬁ of along source demand curve is due to changes in
| =nce which 'eads to change i quantity demanded -
53] Increase in price of pulses keads 1o increase in demand of green
vegeatie: :
{a) Substrutes
€} Normal Goods
Answer:
(@l Substitutes

mww.wmmm M price of puises leads 1o decrease in demand of pulses
° increase in cemand of green vegetables, _

4

(b} Complimentary Goods

(d) None of the ahove {1 mark)

4.114

[164] When number of t
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ourists increase at a place for which room rent y

hostel also increases. Then electricity of supply of room will be:

(b) <1
MMW W%qo (&) =1 (1 My
Answer:
(b) <1

There is increase in number of tourists m:.a even though therg
increase in hotel raom prices, the supplier cannot be mc.s b
expand the supply with same Qou.oao:mnm. So, the elasticity o
supply will be less than one that is inalastic supply.

[155] When oranges has (-)0.68 Increase elasticity, the commodity orang,

is called as:

(a) Orange is a Necessity Good

(b) Orange is a inferior Good

(c) Orange is a Substitute Good

(d) None

Answer:

(b) Orangs is a Inferior Good
It Income elasticity has negative value, then good is said t b
Inferior Goaod.

(1 mér

[156] Which of the following method is used to calcuiate Elasticly d

Demand, when price and quantity demand are large?
(a) Zero Elasticity (b) Cross Elasticity
(c} Point Elasticity (d) Are Elasticity {1 mat)
Answer:
(d)’ Are Elasticity
Are .m_mmzo_q Is used to calculate elasticity of demand when pricé
and quantity demand, has large changes.

[157] Suppose that tatal utiity is 100 at 10 units of consumption of @

commodity. if consumer increases the consumption by one more url
and owing to that total utiiity increases to 108. The marginal utliey o
last units consumed will be:

(a) 8 (o) 100

() 108 {d) 101 _ (1 mai

[158]

202

[159

[160
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Answer:
(a) 8
T, =100, TU,, =108,
MUn=TU, - TU_,
MU,, = TU,, -ﬁca =108-100=8
158] Due to introduction of 5G mobiles in market, the price of such mobiles
have increased by 20% and thera by supply increased by 40%, z..m
glasticity of supply will be which of the foliowing?

(a) 0.5 () (-)0.5

{c) -2 (d) 2 . (1 mark)
Answaer:

(d) 2

% AQS = 40%, %.AP = 20%
_ %08 _40%
Es = =P 2L -2

'023 - DECEMBER

59] Exception of jaw of demand is
{a) Cross slasticity of demand
(b) Marginal utility
(c} Conspicuous goods
(d) Substitute goods {1 mark)
Answer:
(c) Conspicuous goads

Conspicuous goods are used by the rich people as status symbal

for enhancing their social prestige. They purchase if their prices
are high or keep going up which is an exception to law of Qo-.:m:a

0]
Units Tu Mu
1 200 o B
- - 180
3 480 %
Find Tu at 2 units:
(a) 100 (b) 350
{c) 380 {d} 200 (1 mark}
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Answer:
{c) 380
Af 1 unit, TU = MU :
Seo, TU, = MU, = 200
Also, TU . =TU,_, + MU,
So, at 2 units
TU, = TU, + MU,
TU, =200 + 180
TU, = 380.
Thus, TU at 2 units is 380..
[(161] If price efasticity of supply is 5 and % o:m:mm in price of product is
15%. Then what will be percentage change in quantity supplied?

(a) 75% {b) 15%
{c) 20% : {d) 55% v (1 mark)
Answer: _
(a) 75%

E.,=6

- Perceniagechangeinquantity supplied
Percentagechangeinprice
_uo..omammm change in guantity supplied = 5 x 15%

=75%
[162] The price of hot - dog increases by 22% and the elasticity demanded
falls by 25%. This indicates that demand for hot dog is:

{(a) Elastic . {b) Inelastic >

(c) ‘Unitary elastic (d) Perfectly elastic (1 mark)
Answer: ‘ £

(a) Elastic

When price of _.,Q.aom increases by 22% and consequently it's
demand falis by 25% this means elasticity is:
E = “echangeinQuantily demanded _ 25%
Sechangeinits price 2%
E = 1.136 (This shows that demand is m_mmﬁ_ou
:mﬁ MU of n™ unit is given by:
(@ TU,-TU,,,
() TU,+TU,,

{o) TU,+TU,,,
) TU, -TU,, (1 mark)
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Answer:
(d) Tu,-TU,,
MU, =TU, - Tu,. (Marginal Utility is addition to the total utility by
the consumption of an additional unit of output.)
[184] 'CF" is the budget iine. What doss the points 'K' and 'H' represents
from the consumer point of view?

e

8-{ S

Food F

{al Point 'K' is not reachable of the consumer, point 'H' shows
underspending by the consumer.
{b} Point 'K' and 'H' shows equal consumer spending.
{c} Point 'K' shows underspending by the consumer and point 'H'
shows beyond the rsach of consumer.
(d} Point K" and H' shows the price ratio. )
Answer: .
{c) Point’'K'shows underspending by the consumer and point'H'
shows beyond the reach of consumer.
Point ‘K is underspending (i.e. reachablé with his income) but is
undesirable while point ‘H” is overspending (i.e. not reachable with
his income) but is desirable.
[165] On the case of a Giffen good, the demand curve will be:

3 mark)

(2) Horizonta| (b) Downward - Sloping to right
{¢) Upward - Sioping to right (d) Vertical {1 mark)
Answer:

(¢} Upward - Slaping to right.
Dmim:a.EZm in case of Gitfen goods is upward (sloping to the
right) as it is an exception to the law of demand,

8 scanver CA Foundation Paper - 4 (2023 mﬂﬂaﬁ
4.1 $

i T120 per peragn,

i i en at a theatrs rises from Peraon

e :n_uﬂswsmooﬂjmm:‘m manager cbserves that the rise in Prigg

7200 uow%“mm:wm at a given movie to fall from 300 nw«moz to 2

MMH%M WZJE is the price elasticity of demand for movie? (Usg An

elasticity method)

{b) 0.8
MMW e (@) 1.2 (1 mary
Answer:
b) 0.8.
U 4 p e D._ ﬂum - mwA

= 200-300, 200+ 120
T 200+300° 200-120
=0.8.
[187] A consumer consumes more of commodity X and less of commodity
Y. The indifference curve will ba:
{a} Slope downwards from left to right
(b) Intersect with each other
{c) Touch two axes
{d) Concave at mid-paint
Answer:
{a) Slope downwards from left to right
The indifference ocurve when a consumer consumes more d
commodity X and less of commadity Y will be:

(1 mark)

2 s
A

—»X
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[168] Which of the following option is correct about point K?
A

>

(a) The consumer is using his full income.
{p) The consumer is understanding
{c) The consumar is overspending.
{d} All of the above.
Answer:
{b) The consumer is understanding
At point ‘K’, it shows that there is underspending by the consumer
within his income which means he is understanding.
(159] Suppose a consumer's income increases from 73,000 to ¥3,600.Asa
result the consumer increases her purchases of compact discs from 25
CDs to 30 CDs. What is the consumer's income elasticity of demand

for CDs? (Arc Elasticity Method)

(1 mark)

(a) 1.00 {b) 0.87
{c}) 0.91 (d) 0.50 (1 mark)
Answer:
(a) 1.00 :
Income Demand of CDs.
Z 3,000 25
73,600 : 30
M YT
¥=N"G0
= m X@
B0 5
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[170] Which is the price at which the quantity demanded of a commadity is
equal to the quantity supplied of the commodity and their is no unsold
stock or no excess demand?
(@) Selling price
(¢) Future price
Answer:
(b} Market clearing price
The price at which Quantity demanded = Quantity supplied and
there Is no unsold stack or no excess demand is called market
clearing price.
(171] An decrease in price will result in an increase in total ravenue if:
(a) the percentage change in quantity demand in less than the
percentage change in price.
(b} the percentage change in guantity demand is greater than the
percentage change in price.
{c) demand is elastic. :
(d) the consumer is operating along a linear demand curve at which
the price is very high and the quantity demanded is very low,
; : {1 mark)

(b) Market ¢learing price

{(d) Spot price {1 mark)

Answet: ,
{b} The percentage changein quantity demand is greaterthan the
percentage change in price.
When such situation oceurs, then total revenue will not increase
when price decreases. :
[172] If the quantity demanded changes by 15% and elasticity is 1. What is
the change in price?

(a) 25% (b) 15%

{c} 20% {d) 10% {1 mark)
Answer:

{b) 15%.

s T

s
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[173] A curve represents ail those combination of inputs which are capable
of producing the same level of output.

(1) Isoquant (b) Production possibility curve
{¢) Indifference curve (d) Margina! outility curve {1 mark)
Answer:

{a} Isoquant
An isoquant shows all thase combinations of different factors of

production which give the same odtput to the producer.

R

zmo,m_sooz | 4
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[1] Demand for a commadity refers to:

{a} A desire for the cammodity

{b}) Need for the commodity

{c) Quantity demanded of that commaodity .

(d) Quantity of the commodity demanded at a ¢certain price during any

particular period of tima.

[2] Suppose the price of movies seen at a theatre rises from ¥ 120 per
persen to T 200 per person. The theatre manager observed that the
rise in prices has lead to a fall in attendance at a given movie from 300
persons to 200 persons. What is the price elasticity of demand for the
movie? (Arc elasticity)
(a) 0.5 (by 0.8
{c) 1.00 {d) None of thess.
In case of an inferior good, the income elasticity of demand is

{a) Positive {b) Zero
{c) Negative {d) Infinite .

[4]  For what type of goods does demand fall with a rise in income levels
of households?

{a) Inferior goods {b) Substitutes
{c) Luxuries {d) Necessities
5] In case of Inferior goods like bajra, a fall in its price tends to :
{#) Make the demand remain constant
{b) Reduce the demand

4,122

[6]

[7]

(8]

[9]

[10]

[11]

[12]
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Scan 3
e the Qm_jm:a. | i ;
A% _m_ﬂ.ﬂmmmm the demand in an mu:m_mmwé mﬂoﬁm“ s
_mswém:._wa along the same demand
(a) Expansion of nmaw:a _
ion of supply _ |
i s d contraction of demand i

Expansion an
Amw _3%¢mmm and decrease of QmBm:QQ  the quantity demes
.A_.:m price of hot-dogs increases by 22 \o.m::A t dogs is : ;
falls by 25% this indicates that demand for hot 0ogs 18 :

(a) Elastic me Wmﬂm%%w S 48
itary elastic ' :

qu_“m %w:m? demanded does not respond to price change and sop,

slasticity is :

(@) Zero {b) QOne 18

{c) Infinite {d) None

What is an Engels curve?

{a) Another name of the demand curve

(b)y A curve showing both demand & supply curves

(c) Curve named after Lord Engals (17

(d) Al

”.azo: factor generally keeps the price-elasticity of demand for a g

ow:

(a) Variety of uses for that goods

(b) its low price . 18

{c) n_owm substitutes for that goods “

“mvo mw :_m: u..o_u.oaoa of the consumar's incorne spent on it

s oﬂo owwﬂm_wz.- line demand curve maeting the two axes, theplé [1¢
Y smand at the mid-point of the line would be :

(a) 0 |
{c) 1.5 MMW Nw
Ani i
necrease in demand can resyit from: @

(8) A decling in the i
| S Market pr
(b) Anincrease in incomsg g

(¢} Areduction in the pri
. N8 price of subet
(d) An INCrease in the price af 8=WMM_H.MMR
S
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'1§] Compute income elasticity if demand increases by 5% and income by

19%.
(w) & (b) 1/5
© Q (d) None

For a commodity with a unitary elastic demand curve if the price of the
commodity rises, then the consumer's total expenditure on this
commadity would :
(&) Increase (b) Decrease
(c) Remains constant (d) Either Increase or decrease
[15] What is the value of elasticity of demand if the demand for the goods
is perfectly elastic? _
(a) O by 1
{c) Infimty (d) LessthanO
[16] Whal is the original price of a commodity when price elasticity is 0.71
and demand changes torm 20 unlts to 15 units and the new price I8

4]

107 [Point elasticity]
(a) T15.4 {b) €18
(c) 20 (d) 78

If the price of a complementary good rises :
(a) Demand curve shifts to the left

(b) Demand curve shifts to the right

{c) Demand curve moves downwards

(d) Demand curve moves upwards

[18] Cross slasticity of demand in Monopoly market is:

(171

{a) Elastic (b} Zero
{c) Infinite (d) One
[19] What is income elasticity of demand, when income changes by 20%
and demand changes by 40%
(a) 172 (b) 2
(¢) 0.33 (d) None

If demand is parallel to the X- axis, what will be the nature of elastlcity?

(a) Perfectly elastic (b} Inelastic
(c) Elastic (d) Highly elastic

(20]
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(21} Qiffen Paradox is an axception of
(a) Demand (b) Supply

(c) Production () Utility
[22] Lawofdemandisa
(1) quantitative staternent (b) gualitative statement
{c) Both (a) & (b) (d) Hypothetical
[23] The demand for which type of goods do not decrease with the increase
In ila price

{b) Luxury
{d) Capital goods

(a) Commforts
(¢} Necessitics

[24] Increase in Price from 2 4 to X 6 then decrease n demand from 15
units to 10 units. What is the price elasticity? (Point elasticity)
{a) 0.66 by 5
{¢) -1.5 {d) 2

[25] Expansion & contraction of the demand curve occurs due k.
{a) Change In the price of commaodity
(b} Change In price of substitute or complementary goods
(c) Change inincome
(d} None
[26] The elasticity between two points:
(a) Point elasticity (b) Arc elasticity,
(¢) Cross elasticity {d) None
[27] When price remains constant and quantity demanded changes, then
the elasticity of demand will be:
(a) Vertical to X-axis {b} Horizontal to X-axis
(¢) Either (a) or (D) (d) None
(28] Demand of & commodity depends upon:
(a) Price . (b} Income
() Price of related good (d) Ali of the above
[29] In case of substitute goods, cross elasticityis .
(a) Negative {b) Zero
(c) Positive {d) None of these
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3Q] The prices of a commodity were increased from I dto ¥ m” As a Smr_r
demand decreased from 15 units to 10 unifts. What is the price

elasticity 7 {Point elasticity)
(a) 0.66 (b} 0.33
(¢} 1.00 (@) 1.5

(31] Other things remaining constant, if the price of the inferior geads
decreases then what will be the effect?
(a} Demand increases
{b} Demand decreases
{¢) Quantity demanded increases
(d} Quantity demand decreases.
[32] When the price fails from T8 to 7 4, the demand rises from 10 to 15

units. Caloulate price elasticity of demana, {Paint elasticity)
{e) 1.5 {b) 35
(¢} 0.5 id) 2

[33] Cress elasticity of perfect substitutes Is:
(@) Zero {b} Negative :
{cl Ore (d) Infinity

[34] What is Engel's Curve?
{a} Curve showing three demand curve

{b} Named after Ernet Engel
{c} Beth(z) and b}
(¢} Nore

{35] A consumer £pends T 80 on purchasing a commodity when _.H price is

%1 per unit and spends 7 96 wh R
- priiE, . en the price is i
the price elasticity of demanog. # SCberionl Calculate

(@) 02
(%81 When @ o3
When the Price of cylinder ri : :
fri o 1568 from 7 120 to 2 200, the de
ﬁmwﬂ.wwo 10 200. Calcuiate the price elasticity of demand. Hendiajia
¢ 5. (b} 0.50 |
il (d) None
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37] If the price is decreased from ¥ 10 to a 8 of a wo&%oa:w;
: guantity demanded remains the same price elasticity is

sc.

——
(&) 1 k) 0
(c) 8 (d) none

[38] Demand for electricity power is m_m.,m:o because
(a) it is avallable at a very high price
(b) it is essential for life
(c) it has many uses
{(d) it has many substitutes .
[39] If the income of a person increases by 10% and his demand fof o

increases by 30%, income elasticity willbe___ .
(@) equal to one (b) less than one
(¢c) more thanone (d) none of these
[40] In the case of luxury goods, the income elasticity - of nmamas
- be .
(a) zero
(b) negative but greater than one
(c) positive but greater than one
(d) positive but less than one

[41] Inthe caseofa straight-line demand curve meeting two axes, the piy

N_mmzo?. of demand at the point where the curve meets y-axis wol
e

" (a) zero
{c) less than ane ) infini
: Nfinit
vl M\, m_oc_wﬁm neome elasticity for the Joc.wm_._ﬂ_a when the income ot
; Gusehold increaseg by 10% and the demang for cars rises by 20%
a) +2 AUV S y
(d) -5

d is associated with the name df

(b) greater than one

[43]) The commodity é:o.m
g d
Robert Giffen? i
(@) Necessary good {b) Luxury good
{dl) Ordinary good
demand

[Chapt

[45]

[46]

[47]

(48]

(48]

150]

(51]

[52]

{c
(d
Ce
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(a
(c
W
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{a
(c
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(c)
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(c)
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(b)
(c)
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(¢} The skope of the demand curve changes

(d) both (a} & (c} above

Cenain goods for which Quantity demanded decreases when Income
Increasss are called :
(a) superior goods {b) inferior goods

{c) prestige goods {d) conspicuous goods

Wwhen the price falls by 5% and the demand in rises by 6%, then
elastictyofdemandis

{a) elasiic (b} inelastic

{c} unitary elastic (d) zero

Crass elasticity of complementary goods is :

(a) Positive (b} Negative

{c (nfinity (d) None of these.

Demand of i-pod increases from 950 to 980 and income increases from
9,000 to 9,800. What is income elasticity?

{a) 0.53 : (b} 0.35

{c} 0.43 (d) None
Contraction of demand results due to 5

{a) increase in the price of the goods

(b) decrease in the no. of the producers

{c) decrease in the output of the sellers

{d) cecrease in the price of the goods.

Bricks for houses is an example of which kind of demand?

{a) Composite {0) Competitive
{c} Joint (d) Derived.
Normal goodshave____ :

(2} zero income elasticity (b) negative income elasticity

{c) positive income elasticity  (d) infinite income elasticity

In which of the foliowing cases the demand for goods tends to be less
elastic?

{a) Good is necessary

(b) The time-period is shortes

(¢} Number of close substitutes is less

{d) All of the above
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(53) Which of the following elasticity of demand measures a movemer
along the demand curve rather than a shift in the curve”?
(a) Income elasticity of demand
(b) Price elasticity of demand
(c) Substitution elasticity of demand
(d) None of these.
[54] |fthe price glasticity of demand is zero, the shaps of the curve will be:
(a) Horizontal (b} Vertical
(c) Sloping downwards (d) None of these.
(55} It a20% fall in the price of a commodity brings about a 40% increass
in its demand, then the demand for the commodity will be termed as:
(a) Ipelastic {b) Elastic
- (c) Highly elastic {d) Perfectly elastic
[56] Expansion and contraction in demand are caused by:
(a) Change in the income of the buyer
(b} Change in the taste and preference of the buyer
(¢} Change inthe price of the commodity
{d) Change in the price of the retated goods.
[57] Afallin the price of normal goods leads to:
(a) A shiftin the demand curve
(b) Fallindemand
{c} A rise in consumers real income
(d) Afallin consumers real income.
[58] A 10% increase in the price of tea results is an 8% increase in the
demand for coffee. Cross elasticity of demand will be :
{a) 0.80 _ (b) 1.25
{c) 1.50 (d) 1.80
[59] When the total expenditure incurred by the consumers oné commodity
due to a change s its price remains the sams, then the elasticity of
demand for that commodity wilt be:-
(a) Zero (o) Ore
(¢) More than one (d) Less thanaone

S
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i g Sima ]
[60] What will be the price elasticity if the original price is T 5, the %M_%.WM
quantity is 8 units and the changed price is ¥ 6. and the chang

quantity is 4 units;
{a) 2.5 (b} 2.0

(c) 1.5 (@) 1.0 |
The criginal price of a commodity is T 500 and guantity demanded of

61] o
a5 that is 20 kgs. If the price rises to T 750 and the quantity demanded
talis to 78 kgs. The price elasticity of demand will be: _
(a) 025 (b} 0.50
{c) 1.00 (d) 1.50
[62] The demand for tactors of production i§ ~—
{a} funcamental demand (b) derived demand
{c} market demand (d) joint demand.
[63] Cross elasticity of demand betwesn two perfect substitutes will he
{a) Very high (b} Very low -
{c} infinity {d) Zero
[64] What is the elasticity between the midpoint and the upper extreme
peint of & straight iine continuous demand curve?
(@) Infinde {b) Zero
{c) Greater than one (d} Less than one )
..Em price of & Tiffin Box is # 100 per unit and the quantity demanded
in the market is 1,25,000 units. Company increased the price to £125.
w:m © this increase in price, the quantity demanded decreases to
;..3@»8 Jnits. What will be the price elasticity of demand?
W Mmm (b) 0.20
) A .
'68] The price of R amozws 20$:m of the above. - .
barint of 1 ..aﬂ,mmmmmﬁ ases fom 10 to 8 and the quantity
e otion, “s.; - :rlaa 25 10 30 units, than the coefficient of
fni «
i (b) -1.00
: (d) 1.5
wmwﬂd bmWMMMu Ww rug muns the law of demang?
(b} Price rises gz m.ﬁm:n ey
5 demand rigeg

'@
&
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(c) Price falls, demand falls

{) Price falls, demand rigses s
[68] mxw___oz of the following is not a determinant of demand?

(a) Consumer's lastes and USEﬂmsnmw
(b) Quality supplied of a commodity 78
(c) Income of the consumers

(d) Price of related goods

-axis implies:

69 A demand curve paralle! to the Y-axis imp

i (@) Ep=0 {b) Ep=1 77
(d} Ep>1 _

¢} EBp<1 :
[70] Mwm.:oﬂm_? when the income of a consumer increases, E.w goes i,
~ superior goods, leading to a fall in the demand for inferior goods,y
means, income elasticity of demand for superior goods
(a) less than 1 (b). unitary
{c) zero (d) negative
(71] If the quantity demanded of X commoaodity increases by 5% when t
price of Y commadity increases by 20%, the cross-price elasticity ¢
demand between X and Y commodity will be:
(@) -0.25 (b) 0.25 7
() ~4.00 : (d) 4.00
[72] é.:_o: amongst the following is the right formula for calculating tg
Price elasticity of demand using ratio method?
(a) (AQ/AP) x (P/Q) (b) (AP/AQ) x (Q/P)
- %V 3%33 x (Q/P) (@) (aP/AQ) x (1P .
= mﬂw m, h_smﬁ.aw:._m:a curve at the point of mesting the x-axiswl  [€
o asticity oom:_o‘_ma Equal to
74 (c) zero ; MMW ﬁwﬂmﬂ:m: one
Changes in the quantit i
ydemanded | i (
Mu wﬁm Same commodity js om__mm. i i el
a) change | : .
" {©) In oo%m Q_wﬂmmanm_:n (b) change in quantity demanded
& (d) cross demand

(7t

.

[t
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[75] Othorthings being equal, & lall In the price of the gomplamentary goods

(76)

{771

(78]

180]

3

o Of the other 10 r6o.

(n) price (b} supply

(o) demand (d) utility

A horizontal demand curve parallel to X-axis shows that the elasticity
of demand Is:

{a) zero (b) equal lo unity

(o) greater than unity (d) infinite.

When tha price of a commodity Increases from t 8 10 9, Its demand
decreases by 10%. The price elasticity ot demand for the commodity
8

(a) 0.8 by 0.9

{e} 1.0 (@) 1.1

Which one of the foliowing is correct about the price elasticity of
demand for & commodity?

{a) It remains tha same under all sltuations

{b) It has several degrees/nature

{c) I remains unatfected by the price of any other commodity

id) ltis an immeasurable concept.

Tre supply of a good refers to:

{a) Actwal production of goods

(b} Total stock of goods

{c) Stock available tor sals
{¢) Amount of goods offered far sale at & particuiar price per unit of

tme : ]

Increase or Decreasa in Supply means:
{a) A shift in Supply curve L

{b) Movement aiong the same supply curve

{c} Both {a) and (b)
{d} Neither {(a) or (D)

¥ the supply curve is Perfectly Inelastic, the supply curve is:
{a} Vertica ) {b) Horizontal
{c) Upward sioping (d) Downward sioping

will cnuan the
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(82] When supply price Increase in the snhor run, the profit of the
producer _
(4) increases (b) decreases
(¢) remaing conslant (d) decreases marginally
(83] A change in the supply of a commodity along with the same supply
curve may oceur due 1o
(a) Change In the price of the commodity
(b) Change In the prices of retated goods
(¢) Change In future expectations about the price of the goods
(d) Change In the cost of inputs
[84] What is the elasticity of supply, when price changes from2 15103 12
and supply change from 6 units to 5 units?
(a) 0.77 (b) 0.87
(c) 0.833 (d) 0.58
[85]- A perfectly inelastic supply curve will be:
{a) Parallel o X-axis (b) Parallel 10 Y-axis
(c) Downward sloping . (d) None of these
[86] Ifthe supply of a commodity is perfectly elastic, an increase in demand
will resuft in:
(a) Decrease in both the price and quantity at equilibrium
(b} Increase in both the price and quantity at equitibrium
(©) Increase in equilibrium quantity, equilibrium price remaining
constant : ; :
(d) Increase in equilibrium price, equilibrium  quantity remaining
: constant
[87} When the change in the guantity supplied is proportionate to the
change in the price, the producer is safd to have
{a) perfectly elastic supply {b) relatively elastic supply
{c) unitary efastic supply (d) perfectly inelastic supply
[88] Expansionin supply refers to & situation when the producers are wifling
to supply a:
(a) Larger quantity of the.commodity at an increased price
(o) Larger quantity of the commaodity due te increased taxation on that
commeadity
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[Chaoter - 2] Theory . [97] The supply of ~®Qc13@ a specitied period
(c) Larger cuantity of the commodity at the same price ; {a) Total Outpu
MU MMM« mc;wyx of the commodity at the decreased price ) (b) Its total mruOJ siader wmu o : untt of 5_
R T S asticity of supply is equal to : tock availa ricular price per |
. 8" stoply s perfectly inelastic, elasticity of supp c) Itss ; at a pari :
89} wwfw Sunply s perfectly | e _ M d) Its Quantity O:mmwn” Mom__‘ sale i) [1¢
o) .1 (d) Intinity : (98] Supply of a commodIty g
90| Finere 's an mprovement in the technology, . (a) stock oozomwx
{2 the SUDDY curve shifts fo the left {b) flow concep .
o the supply curve shifts to the right (c) both stock and zow.c concept o
¢/ quantty supplec increase (d) wholesale concep , from ¥ 30 per kilogram to ¥ 40 Dy
{d} Both (b) anc (1) rice of mangoes Soqm.mm.mm rof . ;
(1] ' the price of aples rises from 7 30 per Kg 0¥ 40 per Kg and the  [99)] mﬁmwma and the suppiy increases from mﬂoﬂ *MMM_.MMM%:@ 3
Sy bxcreater ‘rom 240 Kg to 300 K. Elasticity of supply is kilograms. What will be the elasticity of supply fo goes?
(a! 0.75 (b} 0.67 : @) - 0.67 {b}) +0.67
{c! 00.67 (d} 00.77 L. T h (c) lo..ww {d) +0.75 ) : i
(<] A honizoni £bply curve parallel to the quantity axis implies that the (100] If a 20% fall in price brings about a 10% fali "N quantity supplied, [
wmmwwmw. i e (b) Infinite - Such a case elasticity of supply will be equal to:
{a} Z
{c} Ecualtoone (0) Greaterthan zero but less than one Mm% wm MMW wm
83] Supply refers to the uantity supplied at a partleular price for a . c) 1. . i
i mMmewqum_,,g of Nﬁ% 3 [101] At a price of * 25 per kg, the supply of a aoSEOQ_Q I8 10,000 kg pa
(&) True ,. {b) Faise week. An increase in its price to ¥ 30 per kg, increases the Supply of
»,_9 Farty rue {d) None the commodity to 12,000 kg per week. The elasticity of supply will be:
i ntrease or decrease in supply means: (a) 0.75 b)Y 1.00
{8} Chenge in S4pply due to change in its own price (c) 1.50 (d) 1.75
{0} Change in Supply due o change in factors other than jtg ownprice  [102] Shont- run ptice is ajso called by the name of e
Q Soth the avove (@) market Price (b)  showreom price
1% None of the above . . (¢) maximum retail price ) none of these,
Mﬁwﬁwwmmgm shifts 1o 5ani thereis_____ Supply.  [108]1f & 299 fall in the price brings aboyt g 10% fall in the quantly
e : expansion Supplied, then t ici ¢
fc} contraction ) Boeraane: ﬁ&v_w g N the elastigity oﬂmwuﬂxm&:_ be equal to:
mmmmwo%ﬁa SUpply s defined gg the responsiveness of quantity {© 1.0 Ev A.m
S4Ppliec of a good 1o 4 change in the B, 1 o : \
(2} price of 8:833 good (b price of cm%:cﬁm good Ry Mu_m Mmﬂ.n:.v of supply s @.”mmﬁmq than one when:
% demanc (d) none, opartionate change in Price is more than the proportionats
| change in quantity supplied
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(b) Proportionate change in quantity supplied is more than the
proportionate change in price
(c) Change in price and quantity supplied are equal
(d) Allof the above
[105] Supply refers to which of the fallowing?
(a) Total stock of the goods
{b) Stock of the goods available for sale
{c) Quantity of a good offered for sale at a particular price
{(d) Quantity of a good actually sold
[106] After reaching saturation point consumption of additional units of
commodity causes ;
(a) Total utility to fall and marginal utility to increase
{b) Total and marginal utility both to increass
(c) Total utility to fall and marginal utitity to become negative
(d) Total utility to becoma negative and marginal utility to fall
[107] The elasticity of supply is greater thar one when
(a) Proportionate change in price is greater than the proportionate
change in quantity supplied -
(b) Proportionate change in quantity supplied is more than the
propertionate change in price : ‘
(c) Change In price and quantity supplied are equal
(d) All of the above -
[108] As the price of a commodity increases, normally, its supply:-
{a) Decreases (b) Remains unchanged
(¢) Increases {d) Cannot be determined.
(108] If equilibrium is present in a market then it can be said that: !
{a) The prica of the product will tend to rise
(0) Quantity demanded equals quantity supplied
(c) Quantity demanded exceeds quantity supplied
(d) Quantity supplied exceeds quantity demanded
(110] Supply is a concept.
(&) flow (b) stock
(c) flow and stock, both (d) qualitative

nit of timg

m.hogw
the 309

plied, in

' kg per
pply of
will be:

rantity
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4.136 Scanver CA Foundation Paper - 4 (2023 Syllabus)
(111] Elasticity of supply is measured by dividing the percentage change in
guantity supplied of a good by: i
(@) Percentage change in income
(b} Percentage change in price
(c) Percentage change In quantity demanded of goods
(d) Percentage change in taste preterences
[112] An increase in supply denotes a shift in the supply curvs to the right. .
It there is an increase in supply without a change in demand, the
equilibrium price will and the gquantity demanded will go up.
(a) fall (b): remain constant o
{c) increase {d) becomes zera.
[113] Which among the following is not a determinant of supply?
{(a) Price of the commodity concerned
(b) Prices of the factors of production
(c) State of technology used in the production process
(d) Customs and traditions in society
[114} When the price of the commodity increases from 3 200 per unit to
¥ 250 per unit and consequently the quantity supplied rises from 1000
units to 1100 units, What will be the coefficient of elasticity of supply?
(a) 4.0 (b) 04
{c} 5.0 {d) 05
{118] The Supply Curve shifts to the right because of:
(a) improved technology :
(b) Increased ptice of factors of production
{c) Increased excise duty
{(d) All of the above.
{116] The supply of a good refers to
(@) Stock available for sale
{b) Total stock in the warehouse
{c} Actual production of the goods
(d) Quantity of the good offered for sale at a particular price per unit
of time.

%
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103 | (b) | 104 (b) 1105 | () [ 106 | {c) | 107 (6) | 108 =
198 10 1110 | @ [111 [0) [192 | (@) [773 (@ 114 %
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